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A gain would be made when it turned out that between the sets of transformations of two languages, there existed a close semantic relationship.
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Should it happen that for a certain pair of languages, TA and MB there exist two transformations t1 and t2 such that for any semantic terminal strings of these languages j1 and j2, t1(j1) is semantically equivalent to t2(j2), this would allow for a very simple mechanization.
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There is very little hope that the sets of transformations of two languages which do not stand in any close genetic relationship will exhibit isomorphism or near isomorphism with regard to semantic equivalence.
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A special case of nesting is self-embedding.
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There is no mechanical procedure to move from someone’s performance to his competence, just as there is no such pro​cedure to move from any number of observations in a physical theory.

Now it might be held that we have a built-in relative clockand calendar – of at least a somewhat inaccurate subjective variety – but hardly that our brains contain a mechanism that tells us when it is Monday.

Commitments are stored in the form “S(t),” where t is a time-index relative to the present. When P says “S” he incurs the commitment “S(O).”Commitments in store are periodically updated by the subtraction of one unit from their time-indices.

The linear conception of time can countenance ‘alternative futures’ as epistemic possibilities; although according to this con​ception a time x can have only one possible future, we may not have full knowledge at x of what the future is going to be like so that for all we know there may be many alternative futures for x. These alternatives, however, being generated as a conse​quence of incomplete knowledge rather than by the nature of time itself, do not enter into the truth conditions for tenses. But nonlinear time puts these alternatives into the ontological structure of time, so that they must be taken into account in reckon​ing the truth-values of tensed statements. We could call temporal model structures of this kind’indeterministic model structures’.

Two strings y1E and y2E are printed on two tapes and fed into a machine. The machine begins to operate in the initial state *0. When it is in a state* Ei, it reads on the i-th tape (i=1, 2). The machine reads through both tapes from left to right symbol after symbol, changing states according to a transition table T, and switching tapes according to the partition (El, E2) of the internal states. Finalty one of the strings is exhausted, andthe machine scans on one of the tapes the first empty square following the symbol A. Then it stops. ….
